
Components of a three digit number:  100's, 10's and 1's

80 + 100 + 6 = 186 600 + 10 + 1 =

2 + 200 + 20 = 40 + 400 + 9 =

2 + 50 + 900 = 600 + 8 + 30 =

20 + 7 + 800 = 100 + 90 + 4 =

20 + 4 + 900 = 300 + 7 + 90 =

80 + 700 + 5 = 7 + 50 + 800 =

Name:___________________________________________   Date:_________________   Score:_____________
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Answers

80 + 100 + 6 = 186 600 + 10 + 1 = 611

2 + 200 + 20 = 222 40 + 400 + 9 = 449

2 + 50 + 900 = 952 600 + 8 + 30 = 638

20 + 7 + 800 = 827 100 + 90 + 4 = 194

20 + 4 + 900 = 924 300 + 7 + 90 = 397

80 + 700 + 5 = 785 7 + 50 + 800 = 857
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